Word equations

1. For each of the following, write the correct skeleton equation, and then balance it: o
Example: hydrogen zas + OXygen gas =3 water
2 Hz + Oz = 2 H:O
a) copper(Il) oxide + hydrogen gas - copper H water
Cua O + Moo s« O o (I
b)) lead(11} nitrate + potassium iodide = lead(Il} iodide + potassium nitrate
Ph(vog), + 9 & > PbIs + 2 eNog
¢} calcimm + water - calcium hydroxide + hydrogen gas
o + 2 Ha0 = Colod, + .
d) lead(II) sulfide + oxvgen > lead + sulfur dioxide
P S + ©r = Pb A 502
e) hydrogen sulfide —=> hydrogen gas + sulfur
M, S = Moo A S -

2. For cach of the following, write the word equation, then the skeleton equation and balance it:

Example: Hydrogen gas reacts with oxygen gas to produce liquid water.
Word: Hydrogen gas + oxygen gas = > water
Chemical: 2H, + Oz - 2 H20

a) Lead(Il) sulphate and magnesium bromide undergo a reaction to produce lead(1l) bromide and magnesium
sulphate,
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 ndl C) gilphate - propuenrs bremming =5

Word:

b) Calcium metal reacts with tin (I'V) chloride to form calcium chloride and tin.

worsi Calcium + +ia(v) chlovide = Colodvrnn ohlonde -+
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